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MG-example 2

(α0) =t.c.that (α5) v.laugh

(α1) =t.+wh.c. ∅ (α6) =n.d.-k.the

(α2) =ṽ.+k.t. ∅ (α7) =n.d.-k.-wh.which

(α3) =v.=d.ṽ. ∅ (α8) n.king

(α4) =d.+k.v.eat (α9) n.pie
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(α7) =n.d.-k.-wh.which

(α9) n.pie

(γ1) merge(α7,α9) <

d.-k.-wh. which pie
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<

-wh. which pie

<
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(α6) =n.d.-k. the

(α8) n. king
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(α7) =n.d.-k.-wh.which <=n.d.-k.-wh , — , — , sim>
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<d.-k.-wh , — , — , com>
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<=d.ṽ , — ,-wh , com>

– p.31



MG-example 2

(γ3) move(γ2) >

<

-wh. which pie

<

v. eat ε

<v , — ,-wh , com>
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=d.ṽ. ∅ >

<

-wh. which pie

<

eat ε
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ṽ. ∅ >

<

-wh. which pie

<

eat ε
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